ﬂh Multiplying Decimals (Visually) Name:

Use the visual model to solve each problem. Answers
1) 3x0.35=
1.
2.
3.
2) 2x041=
4,
5.
6.
3) 4x0.8=
4) 2x05=
5 4x0.8=
6) 4x0.68=
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C:h Multiplying Decimals (Visually) Name. Answer Key
Use the visual model to solve each problem. Answers

1) 3x035=

105
1 /100 = 1.05

32
. /1p=32
10
2) 2x041= . 10: 1
32
5 10 — 32
272
6 /100 = 2.72
3) 4x0.8=
4) 2x05=
5 4x0.8=
6) 4x0.68=

16 [83]67[50[33]17] 0]
[ Math ] www.CommonCoreSheets.com 1




ﬂh Multiplying Decimals (Visually) Name:

Use the visual model to solve each problem. Answers
1) 2x09=
1.
2.
3.
2) 2x03=
4,
5.
6.
3) 2x0.46=
4) 3x02=
5 2x0.96=
6) 4x0.30=

16 [83]67[50[33]17] 0]
[ Math ] www.CommonCoreSheets.com 2




ﬂh Multiplying Decimals (Visually) Name. Answer Key

Use the visual model to solve each problem. Answers
1) 2x09= 18
1 /, 0= 18
6
2. 10 — 0.6
92
3 100 = 0.92
2) 2x03= Y =
e 4, 10 ~ 0.6
192
. /100 = 1.92
120
6 /100 =12
3) 2x0.46=
4) 3x0.2=
5 2x0.96=
6) 4x030=

16 [83]67[50[33]17] 0]
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ﬂh Multiplying Decimals (Visually) Name:

Use the visual model to solve each problem. Answers
1) 4x05=
1.
2.
3.
2) 4x092=
4.
5.
6.
3) 3x0.36=
4) 2x02=
5 3x06=
6) 2x0.44=

16 [83]67[50[33]17] 0]
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C:h Multiplying Decimals (Visually) Name. Answer Key
Use the visual model to solve each problem. Answers

1) 4x05= 20
10

4
2) 4x092= 4 10=04
18
5 10_1'8
88
o /100=0.88
3) 3x0.36=
4) 2x02=
5 3x0.6=
6) 2x0.44=

16 [83]67[50[33]17] 0]
[ Math ] www.CommonCoreSheets.com 3




ﬂh Multiplying Decimals (Visually) Name:

Use the visual model to solve each problem. Answers
1) 3x0.71=
1.
2.
3.
2) 2x03=
4,
5.
6.
3 2x04=
4) 2x0.36=
5 3x040=
6) 2x08=

16 [83]67[50[33]17] 0]
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ﬂh Multiplying Decimals (Visually) Name. Answer Key

Use the visual model to solve each problem. Answers
1) 3x0.71= 21?7 B
1 100 = 2-13
6
2 10= 0.6
8
3 10=0.8
72
2 3= —
) 2x03 4, 100 = 0.72
120
5. /100 =12
16
6 10 — 1.6
3) 2x04=
4) 2x0.36=
5 3x0.40=
6) 2x0.8=

16 [83]67[50[33]17] 0]
[ Math ] www.CommonCoreSheets.com 4




ﬂh Multiplying Decimals (Visually) Name:

Use the visual model to solve each problem. Answers
1) 4x09=
1.
2.
3.
2) 4x0.39=
4,
5.
6.
3) 3x054=
4) 2x0.79=
5 3x02=
6) 2x0.23=

16 [83]67[50[33]17] 0]
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C:h Multiplying Decimals (Visually) Name. Answer Key
Use the visual model to solve each problem. Answers

1) 4x09= 36/ - 36
10 = v

156
, /100 = 1.56

162

3, 100 = 1.62
2) 4x039= 4 158/100 =158
6
5 10= 0.6
46
o /io=046
3) 3x054=
4) 2x0.79=
5 3x0.2=
6) 2x0.23=

16 [83]67[50[33]17] 0]
[ Math ] www.CommonCoreSheets.com 5




ﬂh Multiplying Decimals (Visually) Name:

Use the visual model to solve each problem. Answers
1) 3x06=
1.
2.
3.
2) 4x0.69=
4.
5.
6.
3) 2x097=
4) 2x0.75=
5 2x03=
6) 2x02=

16 [83]67[50[33]17] 0]
[ Math ] www.CommonCoreSheets.com 6




C:h Multiplying Decimals (Visually) Name. Answer Key

Use the visual model to solve each problem. Answers
1) 3x06= 18
1 /, 0= 18
276
, /100 = 2.76
194
3 /100 = 1.94
150
2 .69 = —
) 4x069 4 /10 =15
6
5 10= 0.6
4
6. 10 = 0.4
3) 2x097=
4) 2x0.75=
5 2x03=
6) 2x02=

16 [83]67[50[33]17] 0]
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ﬂh Multiplying Decimals (Visually) Name:

Use the visual model to solve each problem. Answers
1) 3x0.7=
1.
2.
3.
2) 2x0.68=
4,
5.
6.
3 2x04=
4) 2x081=
5) 2x0.25=
6) 4x0.8=

16 [83]67[50[33]17] 0]
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C:h Multiplying Decimals (Visually) Name. Answer Key

Use the visual model to solve each problem. Answers
1) 3x0.7= 21
1 / 0= 21
136
2 100 = 1.36
8
3 10=0.8
2) 2x068= 162,
) 2x0.68 . /100 = 1.62
50
5, /. 100 = 0.5
32
6 10= 3.2
3 2x04=
4) 2x081=
5) 2x0.25=
6) 4x0.8=

16 [83]67[50[33]17] 0]
[ Math ] www.CommonCoreSheets.com 7




ﬂh Multiplying Decimals (Visually) Name:

Use the visual model to solve each problem. Answers
1) 4x051=
1.
2.
3.
2) 4x0.2=
4.
5.
6.
3) 4x0.74=
4) 4x0.68=
5 4x06=
6) 3x03=

16 [83]67[50[33]17] 0]
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C:h Multiplying Decimals (Visually) Name. Answer Key

Use the visual model to solve each problem. Answers
1) 4x051= 204
L /100 = 2.04
8
2 10= 08
296
3 100 = 2.96
2) 4x02= 2
) 4x0 4 /100 = 2.72
24
9
6. /. 10= 0.9
3) 4x0.74=
4) 4x0.68=
5 4x0.6=
6) 3x03=

16 [83]67[50[33]17] 0]
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ﬂh Multiplying Decimals (Visually) Name:

Use the visual model to solve each problem. Answers
1) 2x0.7=
1.
2.
3.
2) 3x05=
4,
5.
6.
3 4x0.92=
4) 3x0.73=
5 4x020=
6) 4x0.7=

16 [83]67[50[33]17] 0]
[ Math ] www.CommonCoreSheets.com 9




C:h Multiplying Decimals (Visually) Name. Answer Key

Use the visual model to solve each problem. Answers
1) 2x0.7= 14
. /=14
15
2. 10 — 1.5
368
3 100 = 3.68
2) 3x05= A9y
) 4. 100 = 2.19
80
5 100 — 0.8
28
6. 10 — 2.8
3 4x0.92=
4) 3x073=
5 4x020=
6) 4x0.7=

16 [83]67[50[33]17] 0]
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ﬂh Multiplying Decimals (Visually) Name:

Use the visual model to solve each problem. Answers
1) 3x0.18=
1.
2.
3.
2) 2x0.53=
4,
5.
6.
3) 2x04=
4) 4x07=
5 4x0.8=
6) 2x0.38=

1-6 [83[67]50(33[17] 0 |
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C:h Multiplying Decimals (Visually) Name. Answer Key

Use the visual model to solve each problem. Answers
1) 3x0.18= 54
. /io=054
106
2 100 = 1.06
8
3 10= 0.8
28
2 = —
) 2x053 4 /10 =238
32
5 10= 3.2
76
o /100=076
3) 2x04=
4) 4x07=
5 4x0.8=
6) 2x0.38=

1-6 [83[67]50(33[17] 0 |
[ Math ] www.CommonCoreSheets.com 10
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